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Instructions for the Candidates
Write your roll number in the space provided on the top of
this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.
The test booklet no. and OMR sheet no. should be same.
In case of discrepancy in the number, the candidate should
immediately report the matter to the invigilator for
replacement of the Test Booklet / OMR Sheet.
Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.
Example : (ﬁ
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Sheet given inside the Booklet only. If you mark your
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If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the Original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are,
however, allowed to carry original question booklet on
conclusion of examination.
Use only Black Ball point pen.
Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
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LIBRARY & INFORMATION SCIENCE
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1. Number of working days of National Library of India in a year
(1) 350days (2) 360 days
(3) 362 days (4) 365days

2. Lotka’s law deals with
(1) Frequency of occurrence of words in a text.
(2) Productivity of authors in terms of scientific papers.
(3) Scattering of articles over different journals.
(4) Growth of articles in journals.

3. The large volumes of high velocity, complex and variable data are termed as
(1) Bigdata (2) Linked data
(3) Semantic data (4) Ontology-based data

4.  Sony unveiled the first Blu-ray Disc (BD) prototypes in
(1) September 1982 (2) August 1985
(3) October 2000 (4) November 2005

5. 1S0O 26324 : 2012 is a standard for
(1) RFID in Libraries (2) DOl
(3) Dublin Core (4) Inter Library Transaction

6. 1SO 2108 standard is related to :
(1) International Standard Serial Number
(2) International Standard Book Number
(3) International Technical Report Number
(4) International Standard for Patents Number

7. The Browne charging system does not include
(1) Reader’s ticket (2) Book card
(3) Dateslip (4) Transaction slip

8.  InCC 1’ is used for Unity, God, World, First in evolution etc. as a
(1) Seminal mnemonic (2) Schedule mnemonic
(3) Alphabetical mnemonic (4) Syntactical mnemonic

Paper-I1 2 JA-059-17



TS U oA faa=

oA — ||

e T U U (50) TE-fashe Uee €1 Ui UR & oY (2) 3§ | |l v e ¥

1.
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(1) Tt oe | 91t ot emgtd (2) O TS W it W G i SeaTEha
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30 o, Siieet 3T URadRer S2T St SISl AT Sl el STl &

(1) farga @) foss

(3) fouf=s (4) SIS MR ST
T F Tl 1Y fe%h (S €1 Wieiersd T STTeRoT foar o

(1) Toaw=r, 1982 9 (2) 3T, 1985 ®

(3) TS, 2000 H (4) TEER, 2005 |

SMETA. 3T, (ISO) 26324 : 2012 THTAHT U HHH & ?
(1) TEIHOTEl § STR.UH, 3L (2) SlaTeTE.
(3) e FR (4)  SE-IEEHE -3

JMETF.3M. (ISO) 2108 T frad Heiferd & 2
(1) SR A hH &

(2) ITRICE A T G

(3) ITRIEE qehreh Rure Gem

(4) U WEAT F [T SR AFH

SIS ST T9%ed | i IiHeT el & ?

(1) T fehe Q) TTFFE

(3) dNiE feer (4) o feeg

“dr G’ T U 39eR, fovd, o O vem, anfe & ferw ¢1” =61 Sua fohg w9 9 fohar STan & 2
(1) Hifeer Tgfd Tehd (2) g Wid ehd

(3) TUTHHNER Wi Hohd (4) ATRITCHS Wi Hobd



9.  Identify the mode of formation of the subject ‘Agriculture of Corn’ :
(1) Agglomeration (2) Denudation
(3) Fusion (4) Lamination

10. The number of successive characteristics forming the basis of its derivation from the
Universe of Knowledge is known as :

(1) Order of an array (2) Order of a class
(3) Open array (4) Collateral array

11. What is the third part of colon classification ?
(1) Schedules (2) Rules
(3) Classic and sacred books (4) Index

12. Subject entry which refers from the name of a class to its class number is known as
(1) Class Index Entry (2) Consolidated Entry
(3) Cross Reference Entry (4) Subject Analytical Entry

13. The license for accessing the’Europa World of Learning Online’ is available through
(1) Routledge — (Taylor and Francis) (2) SpringerOpen
(3) Sage Publications (4) Elsevier

14. What is periodicity of ‘Annals of Library and Information Studies’ published by
NISCAIR, India ?

(1) Monthly (2) Bi-monthly
(3) Quarterly (4) Bi-annual

15.  “Facet publishing’ is a division of
(1) American Library Association
(2) Canadian Library Association
(3) Chartered Institute of Library and Information Professionals
(4) International Federation of Library Associations

16. Who differentiated information and knowledge in the following way ?

“Information is piecemeal, fragmented, particular; whereas knowledge is structural,
coherent and universal”

(1) B.C.Brooks and N.J. Belkin (2) S.G. Faibisoff and D.P. Ely
(3) F. Machlup and U. Mansfield (4) J.H. Shera
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(1) T (SR UUS ThIGH) @) R e

(3) ST UfseTsheT (4) UodfeRR
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(1) wEs (2) TgEmEs

(3) SmEsE (4) fganes

U&7 HHZ TehIY TehEehT THIT & 2

(1) e eesl Tairauer

(2) AT ATSBRT THITTTRH

(3) TS IS 3 TSR TS TRHYH TheHod
(4) TEETEA HEWH 3 AT THgueH

fohe gerT 3T 79 1 Fefetad w9 9 wafed fgar &

‘AT WUSIT:, 30T, TR il & STafeh S TXaTeHeh, IO SR Wraifies giar &7 2
(1) 9. 5o 3R TS, dfew

(2) THSH, Haams A S, velr

(3) UE BFAT 3R g, HARoS

(4) SEE I




17.

18.

19.

20.

Paper-II

Which of the following key terms of references assigned to National Knowledge
Commission (NKC) constituted in June 2005 under the Chairmanship of Sam Pitroda for
preparing a blue print to reform knowledge-related institutions and their infrastructure ?

(a)
(b)

(©)

Build Excellence in Education System and increase India’s competitive advantage in
the field of knowledge.

Establishment of one “Knowledge Pool” (KP) in each state capital and to check the
drop-out rate of school going children in a acquiring knowledge.

Promote creation of knowledge in S & T Labs and improve management of
institutions engaged in IPR activities.

(d) Promote knowledge applications in Agriculture and Industry and use of knowledge
capabilities in making Government effective, transparent, and accountable.

Codes :

(1) (b), (c) and (d) are correct. (2) (a), (b) and (d) are correct.

(3) (a), (c) and (d) are correct. (4) (a), (b) and (c) are correct.

In which of the following places the zonal offices of RRRLF are located ?

(@ Delhi (b) Trivendrum

(¢) Mumbai (d) Hyderabad

Codes :

(1) (a) and (d) are correct. (2) (a) and (c) are correct.
(3) (b)and (d) are correct. (4) (b)and (c) are correct.

Which of the following can be used to measure the research output of an individual ?

(@ h-index (b) benchmark

() g-index (d) Bookmarks

Codes :

(1) (a) and (b) are correct. (2) (b) and (c) are correct.
(3) (a)and (c) are correct. (4) (c)and (d) are correct.

Identify from the following the Silver Halide process used in reprography :

(@) Exposure (b) Miniature

(c) Developing (d) Rinsing

Codes :

(1) (a), (b) and (d) are correct. (2) (b), (c) and (d) are correct.
(3) (a), (c) and (d) are correct. (4) (d), (b) and (c) are correct.
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TosIaT =Bt 3TedeTdT § S 2005 § TS AT I TR (THhHHT) o HEe HiF T & 2

(a)  TRTeT OTIGT & ScFeeaT T FHI0T SR T % & | 9YRA & Uiaeal o § gig & |

(b) VI T B TSN H T Areis JoT b1 ST BT 3R A 3757 | foeerd ST aret
Fedi g A1 | TgTE BISH Sl 3T i AT T |

(c) UH T=g 3 YINRIest § T & Toi i UcdR— o1 31T g 0t IR fehameheidl § srRa
TIAT % Uy H FoR A |

(d) P SR T H [ & SFIAT BT F@Tal T 3T TIHR I WA, TREIN 31X STATear
T % feTT T &THATST S STFNT HAT |

El,g_d':
(1) (b), (c) 3T (d) FEIT | (2) (a), (b) AT (d) FEIT |
3)  (a), (c) 3 (d) WIE | @) (a), (b) AR (c) WIE |

frefefEd 6 T 9T 311 3T A TA.TE, & 51T HEed ¢ 2

(a) feeedt (b) TrEmm

(©) T (d) EER

ETE

(1) (a) 3T (d) T | 2) (a) 3 (c) TEE |
(3) (b) 3 (d) W E | 4) (b) 3 (c) WIT |

Jafeort % IMY-SMSSYE & T & FoT FAteriad o & ekt ST foham &1 TehelT & 9

(a) TUH- T (b) =R

(c) SHEzaw (d)  THAER

ETE

(1) (a) 3T (b) WETE | () (b) 3R (c) TTE |
(3)  (a) A (c) WEIT | @) (c) AT (d) TEE 1.

Fefefeaa 4 9 foiorRr 5 Suan foar S oot f9ee] @aTee uishar & Teu o

(a) TSR (b) fafT=R

(c) SaETT (d) RF=m

ETE

(1) (a), (b) 3T (d) T T | (2) (b), (c) 3T (d) T E |
(3) (@), (o) 3R (d) W& | 4)  (d), (b) T (c) WIE |



21.

22.

23.

24,

Identify the type of ‘metadata’ held by D space for archiving contents :

(@) Descriptive

(c) Structural

Codes :

(1) (@), (b), (c) are correct.
(3) (a), (b), (d) are correct.

(b)
(d)

)
(4)

Configured
Administrative

(b), (c), (d) are correct.
(@), (c), (d) are correct.

Which of the following are ‘Special Auxiliary Subdivisions’ of UDC ?

(@) Apostrophe

(c) Colon

Codes :

(1) (a) and (d) are correct.
(3) (b) and (c) are correct.

(b)
(d)

)
(4)

Sub-grouping
Point-naught

(a) and (b) are correct.
(c) and (d) are correct.

What are the constituent elements of Simon’s Flow Chart that are the components of

management system ?

(@ Planning
(c) Motivating
Codes :

(1) (@), (b) and (d) are correct.
(2) (a), (c) and (d) are correct.
(3) (d), (b) and (c) are correct.
(4) (a), (b) and (c) are correct.

(b)
(d)

Staffing
Innovating

Which of the following are the characteristics of not-for-profit organizations according to

Edward G. Evans ?

(@) Financial sources derived from outside funding sources rather than from sales of

service.

(b) Have clear indicator of effect i.e. profit or loss.

(c) Organizations are public rather than private.

(d) Funding preferences for collaborative projects.

Codes :

(1) (a), (b) and (d) are correct.
(2) (a), (c) and (d) are correct.
(3) (b), (c) and (d) are correct.
(4) (a), (b) and (c) are correct.

Paper-II
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21. foug a%q #f Tl § T & [T SF @ gRT 91Rd Heree & UK ol UEaH HY |

(a) faeRoTE® (b) Sfa=raTE

(c) TRECHH (d) vRITEE

ETE

(1) (@), (b), () WIE | ) (b), (c), (d) WEE |
3) (), (b), (d) THE | @ (@), @), (d) WIE |

22, frefatEd 8 @ &4 91 g 8 6 o TeEe SurasE § 2

(a) HarEA (b) SU-TA

(c) Taferg (i) d) Frge=

ETE

(1) (a) 3T (d) T E | (2)  (a) 3T (b) TE |
(3) (b) 3 (c) T T | 4) (c) X (d) TWEIE |

23. WEHT % Tl 9 % Gueeh o7d T & ST UeY UUTel! % 9 Bid ©

(a) TR (b) FHHAR AT
(c) ARTROT (d) TewEa
m .

¢ .

(1) (a), (b) 3R (d) T E |
2)  (a), (c) 3 (d) WIE |
(3)  (d), (b) IR (c) FAE |
4 (a), (b) &R (c) WEHE |

24, TUSHE Sl TN % AR TG H ¥ DI A A AT T A a1t T i faeiand € 2
(a) T % forRa 1 ST ST o aieoT Sl & foriia | ot fohe <1t € |
(b) T AT EE H TS H L FAF e © |
(c) T ST 7 &l TRl & & |
(d) SR e % for fore aror sifeme |
ETE
(1) (a), (b) AR (d) TEHE |
2) (@), (0) 3R (&) WA E |
(3)  (b), (c) AR (d) W€ |
@) (a), (b) A (o) WA E |



25.

26.

27.

28.

Which of the following are the criteria for defined open standard in W3C (2006) ?
(@) Transparency and Impartiality

(b) Maintenance and Relevance

(c) Availability and Openness

(d)  Security and Preservation

Codes :
(1) (a), (b), (d) are correct. (2) (b), (c), (d) are correct.
(3) (a), (c), (d) are correct. (4) (a), (b), (c) are correct.

A Blog usually provides

(@) acommentary on a particular subject.

(b) apersonal online diary.

(c) anonline brand advertising of a particular individual or company.

(d) an exclusive pre-paid publishing tool and non-instructional and non-illustrative
resource for the scribes.

Codes :
(1) (a), (c) and (d) are correct. (2) (b), (c) and (d) are correct.
(3) (a), (b) and (c) are correct. (4) (a), (b) and (d) are correct.

Which of the following are pillars of information literacy according to SCONUL seven
pillars of information literacy ?

(@ Find (b) Gather

(c) Identify (d) Manage

Codes :

(1) (a), (b) and (c) are correct. (2) (b), (c) and (d) are correct.
(3) (a), (c) and (d) are correct. (4) (a), (b) and (d) are correct.

Identify from the following, the digital library projects were implemented by C-DAC
(Agency) Noida :

(@) Creation of Vidwan database

(b)  Print your own book — Mobile Digital Library

(c) Creation of Shodhsindhu

(d) Creation of Digital Library of Books in President House

Codes :
(1) (a) and (b) are correct. (2) (b) and (c) are correct.
(3) (c) and (d) are correct. (4) (b) and (d) are correct.
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25.

26.

27.

28.

frferfiaa o & 9§ W3C (2006) H IR et Aeh! 1 AOEE © 2
(a) URGEET 3R fomern

(b)  3TIRETOT 3 GEIAT
(c) SIS 31 GeATa=

(d) TR 3R URTET0T

FT: | |
(1) (a), (b), (d) & | Q) (b), (¢), (d) T |
3) (), (c), (d) WIE | @) (a), (b), (c) TEE |

Wﬁ‘l AMHTT: 3UTSH hdl %

(a) Torat foory famr o faamor

(b) U ATHIIT AT SR

(c) Torat foery saferd 1 ot b SHHeTE siie famm=

(d) @ F [oTT TH 3 -0 THIPH T 3T - 3RS qAT IR-JUHTHS T
EIC;R':

(1) (a), () 3 (d) TEE | 2)  (b), (c) R (d) W |

(3)  (a), (b) AR (c) WA E | @) (a), (b) AR (d) WEE |

o [ e

TR (THHISTTUET) ot IeRl % Td & & AR HAfaiad § @ SF & a1 9erdr
% T €9

(a) @IS T (HTES) (b) THT HAT ()

(c) UEHM (ES<HE) (d)  wee (H9)

ETE

(1) (a), (b) AR (c) TEE | ) (b), (c) R (d) W E |
3)  (a), () 3 (d) WEE | @ (), (b) AR (d) W |

frefata o 9 fefsteet qxaehord URAISHT S Ued iy, STEeh S-S (TSTEn) §RT Sarag—
BRI

(a) TagM ST & g5
(b) T AR 3 qe-Hrarse fefeat wmgady

(c) gy 1 g

(d) Tezufd o o Qi @i fefSeet wmest

ETE

(1) (a) 3T (b) TEE | (2) (b) 3R (c) TTE |
(3)  (c) I (d) W | 4) (b) AR (d) TTE |



29. Which of the following are the objectives of RRRLF ?

(@) To act as referal centre (b) To act as clearing house

(c) To promote reading habit (d) To promote library movement
Codes :

(1) (a), (b) are correct. (2) (b), (c) are correct.

(3) (a), (d) are correct. (4) (c), (d) are correct.

30. Identify the sequence of the ‘title’ and ‘statement of responsibility’ area from the

following :

(@) Title proper (b) Parallel title

(c) General Material Designation (GMD) (d)  Statement of responsibility
Codes :

(1) (@), (c). (b) and (d) (2)  (c). (b), (a) and (d)

(3) (d), (c), (b) and (a) (4)  (b), (a), (c) and (d)

31. Arrange the following according to their year of origin/publication :

(@) Cause and effect diagram (b) MBO

(c) Pareto Principle (d POSDCORB
Codes :

1) (@), (), () (d) (2) (b), (), (d). (a)
3) (). (d), (a), (b) (4)  (d), (a), (b), (c)

32. Arrange the following Public Libraries Acts’ according to their year of enactment :
(@) Gujarat Public Libraries Act
(b) Chhattisgarh Public Libraries Act
(c) Goa Public Libraries Act
(d) Rajasthan Public Libraries Act

Codes :
1) (@), (c), (b), (d) (2) (d), (b), (), (c)
3) (c), (a), (d), (b) 4)  (d), (b), (), (&)



29.

30.

31.

32.

Frfeiad & § 3R 3N 3R Ul U o 299 941 & 2

(a) U H% P &Y H B T | (b) TS ETHT & &7 H B HEAT |
(c) UG I 3EA I WicHTed BT | (d) TEIHICTT S ht AcdE ST |
% :

(1) (a), () TAE | @) (b), () TAE |

3) (2, ()T @) (o). () TAE |

freferfaa @ 9 3en i SIREa &9 % HUF % e Sl TEuH

(a) |HMET ST (b) T ST
(c)  WMURYT Wk A (SiTret) (d) SRS T Fo
ETE

(1) () (). (b) 3R (d) @) (0. (b). (a) 3R (d)
(3)  (d), (0), (b) 3R (a) @) (0. (@), (c) 3R (d)

fAfaiad ot 37 ITTa/IHR & Iy o STTHR A e

(a) THROT 3T T SIS (b) THS W

(c) W fag@ (d) USHIE

%

(1) (@), (b), (c), (d) 2) (), (c), (d), (a)
() (c), (d), (a), (b) 4 (d), (a), (b), (¢)

o (eSS e

TATeTEd QrasT-eh JEasherd STefTamT sl 39 ATHFHEH % IR Harerd S
(a) ORI QAT qeIRed =

(b) DTG QA YA ey
(c) TG HreSI-eh st gy
(d)  TSTRIH Hrasi-eh st Sia-ad

T
(1) (@), (), (b), (d) (2)  (d), (b), (), (¢)
(3)  (©), (), (d), (b) 4 (d), (b), (¢), (a)



33.  Match the following :

o0 op

List -1
Sample
Variable
Range
Standard deviation

Codes :

1)
()
(3)
(4)

a b c d
i i i iv
ii i iv i
i i i v
iv i i iii

34. Match the following :

C.

d.

List— |
Basic Research

Applied Research
Action Research

Survey Research

Codes :

1)
()
3)
(4)

35. Match the following States with their corresponding E-Government initiatives :

o0 op

a b c d
iv i i iii
i v i iii
i i v
i i v

List -1
Kerala
M.P. (Dhar)
Maharashtra
West Bengal

Codes :

(1)
()
(3)
(4)

a b c d
i i v i
ii i i v
iv i i i
i i v

iii.
iv.

List—11
Height, weight
Cluster
Square root of variance
Difference in score distribution

List— 11
Problem of gaps in periodical
collection in J.N.U. Library

Use of measurement technique in
Library Science

Use of Library in public schools in
Delhi

Five laws of Library

List— 11
Akshaya
Banglar Mukh
Gyandoot
Information Junction



-1 | -1

a. THAT i. oﬁ'lé’, IR

b, W T

c. W i, = H A gA

d. A faee iv. TR foeer ® SR

ETE

a b c d

A i i i v

@ i i iv i

G) i i i v

4) iv i i iii

frfafad s gaferd i

-1 -1

a. oIy i, ST TR H U Gueu |
TICATET St TG

b.  STIUIST WY ii. U foRE W oA oA @6
EEpiul

c. HAIMY iii. feoott & ufsot Whell H qEIRCT
EEpIN]

d. SO Iy iv. JEIeE & O FEE

ETE

a b c d

A i i i

@ i iv i i

G) i @i v i

4) i i 1ii v

Ffefad st s 379 el $-TeHe Uget & 91 Gaferd it

-1 -1

a. A 1. I’
b. T URY (UR) i, TR g
c. TR iii. FHgA
d. O et iv. AT SR
ETE

a b c d
(M i i iv i
@ i i i v
3) v i i i

“4) il v i



36. Match the following :

List— 1 List— 11
a.  Web of Science i.  Chemical Abstract Service (CAS)
b. Web Junction ii. Elsevier
c. Scopus iii. OCLC
d. SciFinder iv. Thomas Reuters
Codes :
a b c d

@ i i i v
@ v i i
@) i v i
@ ivoodii i

37. Match the following :

List— 1 List— 11
a. ABCD I.  Georgia (USA)
b. KOHA ii. New Zealand
c.  Weblis iii. Brazil
d. Evergreen iv. Poland
Codes :

a b c d

@ i di v
@ v i i
@) i v i i
@ i i v i

38. Match the following :

List—1 List—11
a. Library Finance i.  Regular Grant
b. Non-plan Grant ii. Funds given for  building,
Infrastructure & Machinery
c. Non-Recurring Grant iii.  Sources of Income and Expenditure

d. Plan Grant iv. Funds given for project under
annual / 5 year plan

Codes :

a b c d
@ i i i iv
(2 i iv i i
(3) iii i v
4 i i iv i



a. A9 3H WEH
b. o9 SR
c. THUg
d. HEHE-EY
ETE
a b c d
(1) i i i v
2) v i 1ii ii
3) i iv 1 i
4 iv il il i
TATcRET i FHICTd HifeTT
-1
a.  TALELE
b. HIATIAL.
c. dEfe™
d.  TEE
ETE
a b c d
(1) i i v i
(2) v i i iii
3) 1 1 il
4 1 i iv i
TATRET i FHiCTd HifeTT
-1
a. X fod
b. TRASH 3FEH
c. T-3VEr 3TEH
AT ST
ETE
a b c d
(1) ii il i v
) i v i ii
3) 111 1 1 iv
4 i1 1 iv il

il.

iil.

1v.

11.

iii.

1v.

ii.

iii.

1v.

Tt
hiHheT Usaede Ao (Huua)

TTeTt
qHg ®g

-1
frafee ar3er
o, TIRRZF 3 G-l & forw &
g Tt
I 3R =T & A

e/ I=e T FISTT o 3Taid &l e

e




39. Match the following Main Entry fields with their corresponding tag as are given numbers

in MARC 21 :
List—1 List— 11

a. 100 I.  Main Entry — Uniform Title
b. 110 ii.  Main Entry — Meeting Name
c. 111 iii. Main Entry — Personal Name
d. 130 iv. Main Entry — Corporate Name
Codes :

a b ¢ d
L iiioivo i i
2 iv i i i
3 i i ivo i
4 Qv i

40. Assertion (A) : There is a connection between the concept of uncertainty and relevance
in IR.

Reason (R) : In IR both uncertainty and relevance are totally ruled out as part of query
document matching.

Codes :
(1) (A)istrue, but (R) is false. (2) (A)is false, but (R) is true.
(3) Both (A) and (R) are true. (4) Both (A) and (R) are false.

41. Assertion (A) : Electronic indexing and abstracting services are not advantageous over
print.

Reason (R) : Electronic indexes work on much the same principles as print.
Codes :

(1) (A)istrue, but (R) is false.

(2) (A)is false, but (R) is true.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true.



39. THeATciiEd g ufafte & ol TH.U3RE.-21 § 399 el 1 ST o T GHoTd STy

-1 -1

a. 100 i, = ufale - UshEEE v
b. 110 ii. T Ut - 9 @ e
c. 111 i, g ufafte - dafwes A
d. 130 iv. T AEE - HARS A9
T

a b c d
() dioivoodi i
2 iv i i i
(G) i i iv i
(4) i iv i i

40. ANTHAT (A) : TSR, T AATEdar 3 UGl sl HehodaT o g 9ag ¢ |

qE (R): 3ME.R, | AMREAAr 3T UERTSHAT AT 1 JesT e HelH % 9T % ® 9 H ord:
TR e T |

B

(1) (A) T, AT (R) Toid & |
2)  (A) eI &, ST (R) el & |
(3) (A) 3R (R) I W€ |

(4)  (A) 3R (R) I T € |

41, APUHUA (A) : TOFIH SHAVIHT 3R TR Fa e S T § oYHRT el ¢ |
qF (R) : TR SN Uiz o T FaaT= 0 & S Yl ¢ |
T
(1) (A) Wl €, lfehd (R) T § |
2) (A) T &, 6T (R) W€ |
(3)  (A) 3 (R) T ToAT & |
@) (A) 3T R) I FEIE |
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42.

43.

44,

45.

Assertion (A) : The efforts of contemporary libraries in using static A-Z lists (as a part of
their ERM system) to facilitate access for users who wanted to limit their searches to
e-content has failed to yield results.

Reason (R) : Such lists maintained locally are, by necessity, more detailed and elaborate,
as increase of titles made the maintenance of such lists more labour intensive and

complicated.
Codes :
(1) (A)is true, but (R) is false. (2) (A)is false, but (R) is true.
(3) Both (A) and (R) are true. (4) Both (A) and (R) are false.

Assertion (A) : Libraries contribute to capacity building, which is essential to community
development.

Reason (R) : Library programmes and services can influence a person’s desire for
life-long learning, which is an important component of capacity building.

Codes :

(1) (A)istrue, but (R) is false
(2) (A)is false, but (R) is true
(3) Both (A) and (R) are true
(4) Both (A) and (R) are false

Assertion (A) : A collaborative culture is an important condition for knowledge transfer
between individuals.

Reason (R) : Knowledge transfer do not require individuals to come together to interact,
exchange, and share ideas and knowledge with one another.

Codes :
(1) (A)istrue, but (R) is false (2) (A)is false, but (R) is true
(3) Both (A) and (R) are true (4) Both (A) and (R) are false

Assertion (A) : Right to Information Act in India mandates timely response to citizen
requests for information sought.

Reason (R) : The basic object of the Right to Information Act is to empower the citizens,
promote transparency and accountability.

Codes :
(1) (A)istrue, but (R) is false (2) (A)is false, but (R) is true
(3) Both (A) and (R) are true (4) Both (A) and (R) are false
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42, ATUHET (A) : o YIS B2 DT TS T HTHT BT A8 &, Bl SAFTH I S & e

43.

44,

45.

THFHIAN JRARE 5RT T TS Jhadl 1 (30 3.3R.0H. 0 & €9 H)
SYANT X o FATET T HIE RO T et TR § |

& (R) : TH! il Bl T € W S AT ST & SR SEvah R ST
T | gl & T I8 3T a%gd X A &l STt & S7ehT ST T a=T
3 5w, G SR et 8l ST e |

ETE

(1)  (A) T &, AfBT (R) ToAd & |
(2) (A) TToId €, Al (R) Tl € |
(3) (A) 3T R) I TIE |

@) (A) I (R) I T E |

AIHHYT (A) : TR &A1 A0 § AR et & S AR fowm o fofw 7rewas ¢ |
& (R) : LA HRIHT SR Yo AT & STSTe diad @ i 3597 i TdIfad e

Tbell €, ST &THT 70T %7 Ueh Hewaul 92 € |
ETE
(1) (A) T&I ¢, AT (R) T € | 2) (A) TeId €, AfhA (R) W& E |
(3) (A) 3T (R) I WEIE | @) (A) 3R (R) SH TAT € |

AR (A) : SRR % S 9 % 3TRT & T Teaimeeh Thid Ush Hewaqol o1 & |

& (R) : T % ST & foTe =ikl s W aradid, T 8% % 91 foari 3 99 &
EA-IGH 31X S Qe A & fofd e & e 3Tevaeh el € |

&<
(1) (A) &l &, 9T (R) ToAd & | (2) (A) T &, TR (R) T & |
(3)  (A) 3T (R) I W& | (4)  (A) 3 (R) I TAT & |

AMTHAT (A) : TRA | G 1 AFER AT ARG FRT AN T8 o1 o STFRE 3R
T X 3 B AT T E |

qF (R) : I H YER MUFET FT Gl 29T AT 1 TR I, TRERIT 31X
STATSRE! I MedE S |

ETE

(1)  (A) T &, AfBT (R) ToAd & |
(2) (A) T €, Al (R) Tl € |
(3) (A) 3T R) I TEIE |

@) (A) AT (R) I T E |
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Read the passage given below and answer the questions based on your understanding of
the passage. (Question Nos. 46 — 50)

The idea and phrase “serious leisure’ comes from Stebbins’ interviewees, who used
the word “serious” to underline the extent of their passion for a favourite leisure activity.
In this case, the term embodies positive qualities such as importance and sincerity, rather
than negative traits such as gravity or anxiety. Whereas casual leisure supplies pleasure,
and project-base leisure delivers a temporary reward, serious leisure generates deep and
enduring sensations of fulfilment.

There are six defining characteristics to all serious leisure. First, there is the
occasional need to persevere, as when mountain climbers push through exhaustion to
reach a peak. Second, is that of finding a leisure career in the activity, with turning points
and a sense of advancement. Third, serious leisure takes significant personal effort based
on specially acquired knowledge, training, experience, or skill. In this quality, serious
leisure is the opposite of its casual counterpart, which requires no expertise. Fourth, there
are eight durable benefits or outcomes to serious leisure: self-actualization, self-
enrichment, self-expression, regeneration or renewal of self, feelings of accomplishment,
enhancement of self-image, social interaction and belongingness, and lasting physical
products of the activity. Fifth, serious leisure participants tend to identify strongly with
their chosen pursuits, and may be quick to assert their affiliation. Sixth, a unique ethos, or
spirit of the community, exists around each serious leisure activity.

There are three main types of serious leisure : amateurism, volunteering, and
hobbies. Amateurs operate in the fields of art, science, sport, and entertainment.

46. One of the six defining characteristics of serious leisure is
(1) amateurism (2) requires no expertise
(3) pleasure (4) spirit of the community

47. One of the three main types of serious leisure is
(1) hobbies (2) sport
(3) entertainment (4) art

48. Which is not one of the eight durable benefits of serious leisure ?
(1) Self-expression (2) Renewal of self
(3) Social interaction (4) Unique ethos

49. The word “serious’ is the phrase “serious leisure’ expresses the idea of
(1) gravity (2) anxiety
(3) sincerity (4) pleasure sensations

50. A temporary reward comes from
(1) casual leisure (2) project-based leisure
(3) serious leisure (4) enduring sensations of fulfilment
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46.

47.

48.

49.

50.

I feU T RIS I UfgU 3R ST % SR H U THY % ER W U % I ST
(M.49. 46 — 50)

‘TR gREd” (FIET oR) 1 Tar 3R U8 R & 39 HRTchRaet & 3T €,
e forelt =Rt Tead Tidfety & ) o 9= FTE st EiET J@itehd HR % fow “idie” s
T YA fRAT AT | W A § AT U T[T AT Il S ABRIHE O o T FEweqor 3T
THERI ST YRk UM i &6k el & | TS FXEd AT 3l ¢, I IR s
P ST Hed UST Sl €, STeifeh TR Gad IR e b el 3R e arafa a1 el € |

T TR GG T TR A aelt S8 fa9iadnd gt § | Ueell, S qganel e
Tt & [T 31U SR GheT H AF S ¢, I TR i AIT-HIT SRR Bl & | T,
R faIgati ST ST dg Sl TEAT & Qi T8 Tatary § FIEd HER U T € | ard, T
TREd § o9 ® F U S, WRIRI, SFNE A7 hIvTeT U SN HewaquT AR Jar T
METTH & | T TUET H TR AT ST ST WiqueT & Rl g &, ek forg
TorToI=TaT < STrevaehar el it | =il TR EEd o 31e feehrss o & uRomm € : w@-fafg, w@-
T, - MIATHT, W-JAEGR AT TelHIT, SYATH B o], T Bl ST BT G FrITH
ATACT T ST SR TiArary & feremdt Hifdes e | ieel, TR $ad & Tur 379 94
TC YT & T gl ¥ TeaH A € | 9, FEd i UE Ay % 1-118 9IS H UH
IS AR AT 9T Bl & | TR BRad & Je&d: i TR € : SAHquames, @est ¥ &
AR BEr | IR safe wem, fonie, Tt ST 9IS & &3 § el 8id ¢ |

TR EREd <l IR e At S foeiodre § 9 U €
(1) AHYoEER ) ToreoTar #t eevadr T@l gl ¥ |
(3) % (4) THSE H 9IEAT

TR RO & TEA: O TRl H 8 U E

(1) e 2) @A

(3) TEARSH (4) e

TR GG % NS feehis ol & § i |1 U T € 2

(1) wE-aqeam (2) TR
(3) WM ardeT (4) I ABTER

‘T GG IS T 965 TR &, ST Fopy forame =ht st ahear € 2

(1) T (2) g

(3) FAMERI (4) q@® Y

ST ot fohad 31T & 2

(1) STeHiETh FEd (2) ONERTT SR GEd
(3) TR g (4) T A B R i

JA-059-17 23 Paper-I1



Space For Rough Work



